30)

30

50

50

50

50

-97 -




ka

m3

m3

-08 -




mm

mm

mm

mm

kg

m3

kg

-99 -




D=13 (16 D|29 D|D=35| =38| =41| =51
25 32
mm m kg kg kg kg kg kg kg kg m3 m3 m3
D=13116 D|29 D|D=35| =38| =41| =51
25 32
mm m kg kg kg kg kg kg kg kg m3 m3 m3

-100 -




(mm) (m) (mm| 4
(m)
(m)
(m)
(m)
(m)
(m) (m) 5
(m)
(m)
(m)
(m)
(m)
[ x|
(m) 5
(m)
(m)
(m)
(m)
(m)
[ x|

- 101 -




mm

20

20

mm

mm

-102 -




mm

117

131

1.00

1.03

1.94

mm

0.51

1.02

115

1.30

- 103 -




kg

kg
kg
kg
kg
kg
0
57
(6mm

4 -
- 10




